[bookmark: _GoBack]Assignment details 
Please use ASX website to choose the company!!!
You are to select a publicly listed dividend paying company from the country of your study location 
(e.g. Australia for the Bentley campus) and conduct a detailed analysis on it. 
Please go through the checklist on section 6 of this document before you commence your assignment. 
Australia based students must NOT select Domino’s Pizza (DMP), banks, insurance companies, REITs and investment companies. 
The purpose of this assignment is to use your acquired knowledge from this unit to investigate the 
financial strength of a public listed company. Your research should cover the following 4 parts:
• Shareholder analysis (15%) – Who are the owners of the company and the implication to the 
choice of methods used to calculate the cost of return.
• Risk-return analysis (15%) – Analyse the return received over the market for the apparent risks 
identified in the company.
• Cost of capital (40%) – Calculate the cost of capital using various methods and analyse your 
findings.
• Financial statement analysis (30%) – Determine the future of the company by analysing the 
performance of the company.
In each of these parts, you are to report your findings using the format provided below. If the 
information is not from the company’s annual report, you will have to provide details on
• where you sourced the information; and
• comment on how you have verified its reliability.
If the information is from the annual report, you do not need to reference, but you have to include the 
page number of the annual report from which the information has been taken from, for example: (pg 
XX). 
The assignment must be written completely by you and your group members. You are not to purchase 
or reproduce commercial stock reports


Before you start: Do not choose the company unless it satisfies the following, otherwise you will get a 30% penalty. 
1 Dividend paying: Check if the company has been paying dividends for the last 2 years and has been listed for more than 5 years
 2 Annual report: Check what is the latest available annual report. You must use the latest Page 4 of 16 report that has been released before 28th February 2022.
 3 Reporting currency: Check that the company reports in local currency (AUD for ASX listed company). Look at the financial statements to verify. 
4 Borrowings: Your company must have long term (non- current) borrowings for CAPEX. These are usually loans, bonds, notes or leases. Ignore accounts or trade payables, deferred tax or claim liabilities, provisions and employer entitlements and derivatives. 
5 Earnings per share: Make sure that your company does not have a negative earnings per share. 6 Referencing: • Use referencing sparingly. More reference means less critical assessment. You are not awarded marks for putting forth opinions of others. • Footnote referencing is preferred. Chicago style is acceptable. • Referencing must be consistent. • Do not reference material from textbooks and lecture slides. • Do not include definitions or theory. • If the information is from the annual report, do not reference; instead include the page number of the annual report from which the information has been taken from. • Do not quote from the annual report, journal articles, textbook and lecture slide or provide formulas and definitions to equations; just show your workings. • Appendices without intext page number reference will not be looked at. • Do not reference from stockbroking or investment companies/website/articles; including but not limited to Simply Wall Street, Intelligent investor, Investsmart, Motley Fool, investing.com, Investopedia, etc
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CAPM calculations

 Youwill have to either calculate or source for the beta of the company.
* You have to investigate betas from various sources (at least 3), compare the time
period of their calculations, and justify your selection. You can use DatAnalysis, Reuters,
Yahoo Finance, etc.

« Usethe 10-years government bond for the risk-free rate.

« Calculate market return (Rm) using cumulative price retumn of ASX All Ordinary
index (the period should match exactly with your reporting period). If it is less than 5%,
You have to use an adjusted Rm. Perform the following steps in sequence and show your
findings:

1. Use the financial year instead of reporting period, if they are different for your
company

2. Use a total return market index instead of price retum index matching the time period.
3. As a last resort use the average cumulative total returns of longer period (say 4-5
years)

Include a table to show clearly the time frames of the variables used to calculate CAPM.

Variabl Rate Sourced  at Period of (date to
aniable (%) (date) date)
RC
Rm

14072019 -
Beta ce 14072021 13/072021

DGM calculations

All information needed to calculate Rd using the DGM can be found in the annual report;
income statement and balance sheet section.

Use the following formulas:

by
n=ptg
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DI is the sum of the dividends (payment date) for the reporting period.
Do not include any special dividends as it is a one-off occurrence.

Do not include franking credits.

Dividend in the formula of 'g'is D1.

PO s the beginning price of the share of the reporting period.

Use profit after tax for net income.

Include the page number of the annual report where you have obtained the figures

Always use numbers from the main Income Statement (Profit & Loss) and Statement of
Financial Position (Balance Sheet).
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Use statutory not underlying, and do not use adjusted figures.

If your company has many divisions/operations, you have to use the numbers of the main
group.

You may use the calculated basic EPS from the annual report but check if they have used
adjusted figures and note in your report what they have adjusted for. Your EPS cannot
be negative.

If your g is negative, you will have to take averages for the variables used in the formula.
The choice of which variable to apply an average will depend on the company’s history.

Make a note in your report that as the payments are 6 months apart, the numbers do not
fit the DGM formula well.

Selection of Cost of Equity (Re) calculation

Identify if there had been major events that occurred and that may have caused a huge
fluctuation in volatility: this will affect Re through CAPM.

Investigate if there had been a change in the dividend payout policy: this will affect Re
through DGM.

Investigate and discuss the appropriateness of the growth rate (g) assumed in the DGM
calculations

CAPM or DGM: which one do you feel is more accurate/appropriate and why?

Use this to calculate the WACC.

Calculation of Rd

Identify all long-term borrowings used for CAPEX purposes. These are usually loans,
bonds, notes or leases.

You will need to use the publicly available information as an estimation for the rate and
add appropriate margin. This added margin is to account for the terms or risks included
in the loan contract.
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To decide on the suitable margin, you need to identify / investigate the maturity, security
and variability of the loan instrument.

Maturity - you will need to identify all the ones 1 year o less. These are to be ignored.
We are only identifying the long-term debts. Typically, these would be in the borrowings
section. You will have to read the notes to the items. Longer term loans would attract a
lower margin.

Security — you need to identify if the borrowings are secured or not. The stronger the
security, the lower the margin.

Variability - you need to identify if the various instruments are fixed or variable loans.
Variable loans are riskier and therefore would attract a higher margin.
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Rate - you cannot use the interest repayments to ‘reverse’ engineer the rate. You are to
follow the steps below to caleulate your weighted average cost of debt:

a) Establish your base rate - Investigate the current bank bill swap rate (BBSW) and the
credit rating of the company (from Refinitiv Workspace). Using these two, estimate
abase rate for the company.

b) Apply a suitable margin to cach loan instrument:

« Rank all your loan instruments in order of risk
« Apply a margin for each loan instrument
« Research publicly available loan rates to ensure that your margins are reasonable

Review the annual report to verify if there are any mandates or restrictions to the amount
to debt. Significantly high levels of debt would attract a higher margin.

You still have to go through the above steps and include a margin on each instrument
even if a rate is provided in the annual report. However, you can use that rate to justify

your margin applied.

Calculating WACC

Use market values. However, where market values for debt s not available, you may use
the book value.

How does the calculated cost of capital confirm your observation of the market’s reaction
to the capital projects when announced by the company?

What s your assessment of the cost of capital on the company’s current capital projects?
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Financial statement analysis guide (Discussed in Lecture 3 and lecture 4)

1

Calculations

FSA is NOT about calculating ratios. It is about establishing a method for
comparing the health of the company against its past and peers. Please do not
spend most of your time doing the calculations; they do not carry a lot of marks.
You should instead focus more on the interpretation and analysis of the ratios.

You will discuss on 4 ratios.
2 of your choice and the other 2 are ROA and ROE.

Use Du Pont System to discuss both ROA and ROE. (see lecture 3).

Ensure that you show all calculations and footnote the page number of the annual
report where you obtained the figures.

Compare your calculated ratios with that of MomingStar (present in a table) and
comment on variation.

3 “Time series analysis
You do not need to calculate any ratios for this part. Source it from MorningStar
You need to o a time series analysis, looking back at least 3 years.
Do not provide definitions for the ratios. Go straight into the discussion.
Explain the changes in the ratios with reference to company’s history or events.
Do not merely state that the figures are improving or deteriorating.

3 Cross-sectional analysis
You do not need to calculate any ratios for this part. Source it from MorningStar
For cross-sectional analysis, it is unlikely that you will find a perfect match. You
will have to look at all the four areas of:
1. Size,
2. Age,
3. Sector and
4. Scope of operations
You may find Refinitiv workspace helpful in this regard.
You will need to compare with 2 3 competitors.
Do not merely state that the company is performing better or worse than its peers.
State specific events, actions or decisions of the company that contributed the
better or worse performance.

1 Du Pont analysis

You must do a time series and cross-sectional Du Pont analysis.

In your discussion, you have to identify specific events, actions or decisions of the
company that resulfed in the changes in the ratios.

Based on your understanding of the company, what are the challenges or areas that
the company should work on?
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Shareholder analysis guide: (Discussed

lecture 2 and lecture 4)

Summary of the business

« Short description of the main operations of the business and the services or products
that they offer

 Describe what is the business’ main profit source

«_Ifthey have multiple revenue sources, investigate, and summarise them

2 Chairman/Director’s message
Assessing the tone of the message, determine the potential target audience

3 Profile of an investor of the company
Describe who would be a typical investor of your company in terms of
o income vs capital growth
o long vs short term
o informed vs uninformed
In your assessment, make comparisons to similar companies (in other sectors) to
substantiate your reasoning. For example, if you think the investor is looking for dividend
income, the company must be paying substantially more than other companies.

1 Tdentify non-marginal investors

To assess a company, we need to consider the future cash flow of the business; its
sustainability and profitability. This is an important element of the analysis work.
However, future cash flows must be discounted using the appropriate rate.

CAPM is often used as an approximation for the rate. However, when there is a
significantly high percentage of non-marginal investors, other methods must be
employed. in this assignment, we are only going to compare CAPM with DGM.

Pagedof 16

Your investigation into the type of investors of your company will assist in determining
Whether CAPM should be relied upon.

Focus your attention on identifying non-marginal investors; founders, insiders, directors,
related companies like suppliers. Provide evidence of your research. Individual names,
family trusts, private companies (mostly), share plans and DRPs are all non-marginals.
When there is a high percentage of non-marginal investors, other calculation methods
(such as DGM) must be considered on top of CAPM. No marks are awarded for your
effort in identifying marginal investors. It is the non-marginal investors that you need to
identify and discuss. Nominees, custodians, banks and investment companies are all
‘marginal investors; ignore them in your discussion.

Make sure you create a table listing the percentage of marginal vs non-marginal and then
discuss.

% of Marginal % of Non-marginal

Top 20 sharcholders
Remaining
sharcholders
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Risk-return analysis guide (Discussed in lecture 2 and lecture 4)

1 Review and Evidence of listed risks

In this section, you need to review the risks listed in the annual report. Avoid
‘making up your own risks. We are after external risks. Investment decisions,
financing decisions, credit, health and safety, compliance and human resource
‘management are all internal risks; ignore them.

Competition is not a risk, it is the reason the company is in busins

Climate change s not a risk, unless the company’s product and service are
directly and significantly influenced by the climate change.

Do not discuss Covid as a risk as there are other factors that must be considered,
such as govemment assistance and support, reduction of competitors, difference
in state border restrictions, etc.

Identifying the risk is only part of the story. You have to now show evidence of
the risk and explain why your company is more susceptible to that risk than other
companies. The evidence that you provide are for the risks identified in the
previous section. You must have evidence and explanation for each of the risks
identified. No marks are awarded for risks that are identified without clearly
showing evidence that they have impacted the company.

‘This can be done in a few ways; relevant newspaper articles, correlation with
identified variables, trend analysis, and comparison with competitors, etc.

Share price decrease can be visual way to show the impact of the risk in the past.
Discuss at least 3 risks pertaining to the normal running of the business.

Do not address the steps taken by the company to address or reduce the risks.
Please take time to investigate and document your findings.
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Review of shareholder returns

‘The total retumn to the shareholder is the capital growth plus the dividend
received.

Use the ending share price for each of the reporting period as stated in the annual
report. If they are not presented there, only then you will source them from
Morningstar DatAnalysis (via Curtin library). Use closing unadjusted prices.
Calculate the one-year change in share price of the stock.

Use the dividend paid for the reporting period as stated in the annual report, If
the share is franked, you will have to gross it up to account for franking credits
and include special dividends. Look at the payment date of the dividends. As
dividends stated on the annual report are often the declaration date, you may have
to refer to the previous year’s annual report.

Use All Ordinaries (AORD) as your index. Follow the same period as your annual
report.
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*  Time frames must match your annual report and index returns

 You have to include both the interim and final dividend and any special
dividends paid for the period.

« Look at payment date

© You have to gross the dividends up to include the franking credits. Franking
credits are only applicable for this section. Do not include them in your cost of
capital section

Use the following formulas:
Franking Credit=( ___Dividend ___ = Dividend) * Franking Proportion
T~ Corporate Tax Rate

Gross Up Dividend = Franked Dividend + Franking Credit

Note: in this equation, Dividend = total dividend paid for the period. If the
franking proportion is different for interim, final or special dividend, you will
need to do it separately and then add them up to get grossed up dividénd. You will
have a hands-on exercise in week 4 during the lecture.

Review of capital projects

Finally, you have to review ALL capital projects undertaken in the annual report.
Detail and present in a table format the:

« Description

 Amount and

« Duration of the projects.

Risk return discussions must always be done in relation to future capital projects.
How are the risks identified affect the profitability of the future projects?

Companies can also be rolling out projects previously announced. You may need
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10 look back at previous annual reports (include year and page number). Do not
reference commentaries, stock reports or news articles.

If the shareholders deemed that the risk are too high, they would demand a higher
retumn, and this will often result in the lower share price upon the project
announcement.

Capital projects are not cost savings, such as staff cuts, efficiencies, reduced cost
of inputs, ete. You should look for announcements of investments into projects
like acquiring a business, machinery, new premises, etc.

Ensure that you formulate a concluding paragraph to link your understanding of
the risk return trade-off.





